1. 3399358 W34 239 : A z)

*3 #o)( Sk W) o Y o) % 2 %) e
% A1 F2 F3 F4 35 3 A 1 F2 33 34 55 3V %
2000 73 - 1 - 14 58 90 - - - - 90 39
2001 74 - 1 - 14 59 93 - - - 2 91 42
200 2 73 - 1 - 14 58 94 - - - 9 145 61
200 3 88 - 1 - 12 75 96 - - - 5 91 41
200 4 80 - 1 3 42 34 84 - - - 4 80 39
2 0 0 5| 106 - 1 3 62 40 119 - - - 9 110 36
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qza N |¥ 2|Y 28 22 Ty oala o qle gy sy oal) FOY
2000 202 284 6 3 3 - - - - - (1)
2001 209 292 21 3 10 6 - - - 2 (6)
200 2 156 200 7 - 5 - - - - - 1
2003 225 248 6 2 4 - - - - - -
2004 203 222 4 1 2 - - - - 1 (2)
2005 268 254 5 3 - - 2 (2)

AHE AP



3. 2383 53 (39 : 4, £, 9)
FH o9 o8 39 | B 2 3 4B % A N30 | AATO) |5 ) |
Q52 A3 g ]
RRUERe kS| |9 3|49 7| 3| (B/A) |[(ZE/2)|(E/L)[(D/C)(%)
2 00 0| 544.41 65.495 544.41  65.495 100 57 57 100
2 00 1| 544.42 64,738  544.42 64,738 100 53.2 53.2 100
2 00 2| 544.41 65,602 544.41 65,602 100 53.4 53.4 100
2 00 3| 544.41 63,946 544.41 63,946 100 52 52 100
20 04| 544.41 62,336  544.41 62,336 100 50 50 100
2 00 5| 565.89 62,004 565.89 62,004 100 4.4 4.4 100
3 52 9,982 9,982 100 9.0 9.0 100
A 3 20,251 20,251 100 17 17 100
2] %) 2,317 2,317 100 1.1 1.1 100
2 3 2,448 2,448 100 1.0 1.0 100
A ) 5,069 5,069 100 3.0 3.0 100
2) E 5,364 5,364 100 3.2 3.2 100
= = 3,022 3,022 100 1.4 1.4 100
3 A 4,008 4,008 100 2.4 2.4 100
N 3 2.540 2.540 100 1.0 1.0 100
3 A 3,736 3,736 100 3.4 3.4 100
n) o} 3,177 3,177 100 1.9 1.9 100
Z}8 B3P E D
2893 53 (%) (39 : o . ®)
5 gl B 3
3 L l ] ki
i AW a2 -E| > & H 2 8 > F
+ 5 TAFW F[x AT S
2000 57  33.1 1.0 22.9 - - 57 33.1 1.0 22.9
2001 53.2  22.8 4.4 26.0 - - 53.2 - - -
200 2 53.4  17.2 7.2 29.0 - - 83.4 17.2 7.2 29.0
2003 52 21.9 3.3  26.8 - - 52 21.9 3.3  26.8
2004 50  17.2 5.5  27.3 - - 50  17.2 5.5  27.3
2005 4.4  14.3 5.5 24.6 - - 4.4 143 5.5 24.6
o o} 9.0 3.1 1.2 4.7 9.0 3.1 1.2 4.7
A 3 17 4.9 1.9 10.2 17 4.9 1.9 10.2
5] ) 1.1 0.4 0.1 0.6 1.1 0.4 0.1 0.6
2 R 1.0 0.3 0.1 0.6 1.0 0.3 0.1 0.6
A > 3.0 1.0 0.4 1.6 3.0 1.0 0.4 1.6
2) E 3.2 1.1 0.4 1.7 3.2 1.1 0.4 1.7
= = 1.4 0.5 0.2 0.7 1.4 0.8 0.2 0.7
3 A 2.4 0.8 0.3 1.3 2.4 0.8 0.3 1.3
A 3 1.0 0.3 0.1 0.6 1.0 0.3 0.1 0.6
& 3.4 1.2 0.5 1.7 3.4 1.2 0.5 1.7
n) o} 1.9 0.7 0.3 0.9 1.9 0.7 0.3 0.9
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2382 53 (%) (25 - 9, &, o)

5 > ] Z]
El 3] %
AR RIECEEE 3 R s | Al R 8 3 F

T4 F (A AT S[AE) [IF[NE (& A T LT[ (a2 (AR L) #
2000 - - - - - - - - - - - - - -
2001 - - - - - - - - - - - - - -
200 2 - - - - - - - - - - - - - -
200 3 - - - - - - - - - - - - - -
200 4 18.2 2.2 - 2.1 13.9141.3 9. 0.3 133.7 - - - - -
2 0 0 5| 1,238.6 492.5 289.7 109.3 347.1 202.1 2.5 199.6 700.9 24.7 676.4 -
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283 F3 (%) (29 - 94, £, 9)
23 I I S B 5 3 d A Ao A g &

o BW s ¥ 7} ¥ 7 ¥

N il # A A A AR =5

94 | 5| 5 3} ZF| 54 | 5 2 | 7w

2000 29 15 14 - - - - - - - - -

2001 33 15 14 - - - - - - - - -

200 2 34 15 14 - - - - - - - - -

200 3 34 15 14 - - - - - - - - -

200 4 34 15 14 1 - - - - - - - -

20085 33 15 3 1

=) o} 7 2 1 -

A 3 8 4 - 1

2] %) 1 1 1 -

+ A 2 1 - -

A = 3 1 - -

A) % 3 1 - -

= 3 1 1 - -

I A 2 1 - -

4 3 2 1 - -

3 A} 2 1 1 -

o) B 2 1 - -
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4. &) >)F W) 7

233 :
FHR L0 o F| APl
> 209 A(mw) | ¥ 2(n) “(a'{) ' ?? 1?%{)°

°3.‘§.‘§ m m m
2001 5 18,371 5.0 60,588 49,538 11,050
200 2 3 6,878 3.4 23,571 15,747 7,824
200 3 3 6,878 3.4 23,571 18,300 5,271
200 4 3 6.878 3.4 23,571 18,971 4,600
2005 3 6,878 3.4 23,571 20,600 2,971
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% ST R HPPI
3

2 5 = o 2y 2 3 x k'3 3 K

- A SRR R A | IA0R8 | Saa88
2000 66 11 55
2001 65 9 56
2002 65 9 56
2003 64 8 56
200 4 - - - 64 8 56
2005 31,168 24,918 6.250 62.7 5.5 57.2
T2 BRAnaT
34 3 $R94% 3 AIRS

B FAAA TR Y) EEEETEE
ass 4(0) M S LI IR E T B o
2000 34.6 7.0 7.6
2001 33.0 5.0 28.0
2002 40.0 4.0 36.0
200 3 40 3 37
200 4 40 3 37
2005 31.5 5.5 26 31.2 - 31.2
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315 ¥ sxiE 2 HFPIIR(S)
33 + x H 8 4 A
A A2 (/%) )2 m/2) Q| AR
Al 4 Oojw
SR T g 2= | 399 (9] 2= (9929 (299) S
2000
2001
2002
2003
200 4| - - - - - - - - - -
2005 - - 40 - - 33 - - 2,525 A}H -3
R =R
35 R FxF  HHPYI(S)
33 TuHHANH Fu53.H0dA
T A 59 3 o A A (2F) 3 (R ) Za
* o
SR AF | 2R | A ° | A |3E0)8} (458015} 8E0) 3| o)k | U
2000 9
2001 7
2002 7
2003 7
2004 7
iy
005 | - 444 (@) 14 - 3 3 8 22
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) A g v H 7 A A4 8 F(RE/D)
ALY AR (8 2 4) | 5499 (m) %) 2 3 f Y= |2 =
2000 - - 55,095 131,630 61,500 61,500 -
2001 - - 55,041  131.618 61,500 - 61,500 -
200 2 - - 55,086 131618 61,500 - 61,500 -
2003 - - 55,086  131.618 61,500 - 61,500 -
2004 - - 55,086  131.618 61,500 - 61,500 -
2005 - - 55,095 131,618 61,500 - 61,500 -
;%_;ifa,;:; A8 3 ‘05.6.21 11,141 31,672 5,500 - 5,500 -
iaf;;,f:; ii%:f 05.6.19 43,954 99,946 56,000 - 56,000 -
AR L ANGEAT
# 2 F(E/9) # 2 % A (BOD) 2] Ay 2
¥ 8 3 3F¢H | 2 |5 q % | (A E)
2 000| 5923 - 59,236 - 48.25 12.18 3.61
200 1| 29,90 - 29,900 - - - -
200 2| 26454 - 26.454 - 53.12 8.3 4711
2003 - - 26,013 - 64.2 7.0 5.933
2004 - - 25,162 - 84.8 11.7 5,093
200 5| 24,018 - 24,018 - 167.7 11.2 5,035
fg_nzifl]fo‘; 3,598 - 3,598 - 52.6 4.7 236
.%iuf;ﬁ;fj 21,320 - 2130 - 115.1 6.5 4,799
E



obHAPo2(80,)  BARRIR(CO) oAk &(NO,) PMyo 2 F(0)
A+ 4 ) (pH)
ppm/year ppm/8hours ppm/year (mg/m') ppm/8hours
0.110 4.8 0.124 661 0.376 -
0.005 0.6 0.013 41 0.028 -
0.008 0.7 0.011 42 0.033 -
0.008 0.5 0.010 61 0.043 -
0.007 0.2 0.008 80 0.043 -
0.009 0.2 0.012 59 0.048 -
0.012 0.2 0.005 60 0.037 -
0.006 0.2 0.008 57 0.026 -
0.007 0.2 0.008 37 0.020 -
0.005 0.4 0.009 35 0.025 -
10¥ 0.007 0.5 0.013 57 0.029 -
11 0.014 0.8 0.013 81 0.023 -
124 0.022 0.3 0.014 51 0.021 -
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3 A (A3 27 P-H 3 3339)
FGAaol&EE £ EA A :%fﬁ%g 3&3%% a2 ARTI
(pH) (ng/ 2) (ng/ 2) (ng/ 2) (ng/2)  (MPL/100m¢)
8 7 1 5 26 39
7.5 10.3 1.5 4.8 19.5 23
7.8 10.9 1.7 5.2 9.9 38
8.3 13.3 3.3 5.6 9.5 40
8 11.2 2.2 5.9 8.3 92
7.7 5.7 0.2 4.5 9.6 40
7.5 2.8 2.1 7.4 12.1 72
7 2.9 1.8 7.2 14.9 27
7.4 4.4 1.3 4.9 19.6 28
7.1 5.6 0.8 3.4 12.8 47
10% 23 7.4 6.6 0.7 3.1 13.9 21
11 13 7.6 9.1 0.6 4 174.5 17
12% 7 7.7 6.8 0.7 3.5 11.9 20
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